2
2x-x"#0 (1)
Pemraem BcriomMoraTenbHbIE ypaBHEHUS.

(1) x-5=0

(2) 2xx°=0
VYpaBuenue 1 .
X-5=0
X=5

VYpaBuenue 2 .

2x-x2:0

-x2+2x:0

x2-2x=0

x(x-2)=0
x=0;x=2

Pacuer 3HaKOB.

Cayyait 1 : x<0.
ITycts X=-1
()5 -6
2—_3>0 HE YJIOBJIETBOPSIET HEPABEHCTBY.
2(-1)-(-1)

Cnyuait 2 : 0<x<2.

ITycts X=1



1-5 -4
— 5= <0 ymoBneTBOpsiET HEPABEHCTBY.
21
2-1-1
Cnyuyaii 3 @ 2<x<5.
[Tycth X=3
3-5 -2
— 5= >0 He ynoBieTBOpsSICT HEPABEHCTRY.
2 -3
2-3-3
Crnyuaii 4 : 5<X.
ITyctb X=6
6-5 1
— 5=5,<0 ynoBnerBopsieT HEPABEHCTBY.
5. 6-62 -24

Yucno 5 YOIOBJICTBOPACT HCPABCHCTBY.

UYucna 0;2 He yAOBJIETBOPSIOT HEPABEHCTRY.
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orBeT: 0<x<2:x>5



